
- Parts list -

Mode MD mode Mod. des. overview E SEDAN 

FIN/MD WDD 2120036L035438 Catalog D01 

VIN Major assembly:

Sales designation E 250 CDI Major assembly MD

Assortment class Car Group 33 - FRONT AXLE 

Market Europe Subgroup 030 - STEERING KNUCKLE AND CONTROL ARM

Item no.  Part number  Designation/description  Quantity  Version  

10  A 212 332 07 00  STEERING KNUCKLE
LEFT

[002] IMPORTANT: UP TO CHASSIS NUMBER A001281 BALL JOINT MUS...  

001     

10  A 212 332 08 00  STEERING KNUCKLE
RIGHT

[002] IMPORTANT: UP TO CHASSIS NUMBER A001281 BALL JOINT MUS...  

001     

30  A 212 330 00 25  FRONT WHEEL HUB   002     

40  A 025 997 16 47  . SEALING RING   002     

50  A 000 990 43 60  CLAMP NUT  002     

60  N 000000 003358  HEXALOBULAR BOLT
M6X25  

002     

70  A 168 357 00 89  PLUG   002     

200  A 212 330 27 11  STRUT ROD
LEFT WITHOUT BEARING

[003] ALSO ORDER BEARING  

001     

200  A 212 330 28 11  STRUT
RIGHT WITHOUT BEARING

[003] ALSO ORDER BEARING  

001     

210  A 212 333 00 14  BEARING
STRUT   

002     

220  N 910105 014022  HEXAGON HEAD BOLT
TORQUE STRUT TO FRAME-TYPE INT.
SUPP. M14X1.5X120   

002     

220  A 212 333 00 71  ADJUSTMENT SCREW
FOR ADJUSTING WORK ONLY   

002     

230  A 220 333 00 76  SPACER DISK
TORQUE STRUT TO FRAME-TYPE INT.
SUPP.   

004     

230  A 221 333 01 77  RS SPACER RING
FOR ADJUSTING WORK ONLY   

004     

240  A 005 990 48 50  HEXAGON NUT
TORQUE STRUT TO FRAME-TYPE INT.
SUPP. M14X1,5   

002     

240  A 002 990 51 54  HEX. NUT W FLANGE A PART
FOR ADJUSTING WORK ONLY M14X1.5  

002     

250  A 000 333 10 71  TS ADJUSTMENT SCREW
FOR ADJUSTING WORK ONLY   

002     

270  A 005 990 50 50  HEXAGON NUT WITH FLANGE
STRUT TO STEERING KNUCKLE M14X1,5  

002     

300  A 212 330 39 00  CROSS STRUT
LEFT   

001     

300  A 212 330 40 00  CROSS STRUT
RIGHT   

001     

310  A 212 330 01 35  BALL JOINT
CROSS STRUT

[004] IMPORTANT: UP TO CHASSIS NUMBER A001281 STEERING KNUCK...  

002     

315  A 005 990 50 50  HEXAGON NUT WITH FLANGE
LINK TO CROSS STRUT M14X1,5  

002     

320  N 910105 014022  HEXAGON HEAD BOLT
CROSS STRUT TO INTEGRAL CARRIER
M14X1.5X120   

002     

320  A 212 333 00 71  ADJUSTMENT SCREW
FOR ADJUSTING WORK ONLY   

002     

330  A 220 333 00 76  SPACER DISK
CROSS STRUT TO INTEGRAL CARRIER   

004     

330  A 221 333 01 77  RS SPACER RING 004     

Copyright Daimler AG, 7/12/24 6:38 PM, EPC 2.5.5.0, DW 11/2018 Page 1



330  A 221 333 01 77  RS SPACER RING
FOR ADJUSTING WORK ONLY   

004     

340  A 005 990 48 50  HEXAGON NUT
CROSS STRUT TO INTEGRAL CARRIER
M14X1,5   

002     

340  A 002 990 51 54  HEX. NUT W FLANGE A PART
FOR ADJUSTING WORK ONLY M14X1.5  

002     

350  A 000 333 10 71  TS ADJUSTMENT SCREW
FOR ADJUSTING WORK ONLY   

002     

370  A 005 990 50 50  HEXAGON NUT WITH FLANGE
CROSS STRUT TO STEERING KNUCKLE,
LEFT AND RIGHT M14X1,5   

002     

Copyright Daimler AG, 7/12/24 6:38 PM, EPC 2.5.5.0, DW 11/2018 Page 2


